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RREK | WERK A | weT | pOBRT BE HEE | FHM | S8 | S#L | |\ PE
e A 8 8.25 075 05 ~0.25 f S |4 F,
EER2 A, 10 8.25 1.25 -0.5 1.75
EER3 A, 6 8.25 -2.75 -0.5 -2.25 A 2 62 31 8.651 0.0080
EER4 A, 9 8.25 0.25 -0.5 0.75
EERS A, 9 6.25 0.25 -25 2.75 e 9 32.25 3.583
EER6 A, 5 6.25 -3.75 -25 -1.25
FERT A, 5 6.25 -3.75 -25 -1.25 r 11 94.25
EERS A, 6 6.25 -2.75 -25 -0.25
EER9 A 13 11.75 4.25 3 1.25
EER10 A, 14 11.75 5.25 3 2.25 - s _ .
EER1T A; 10 11.75 1.25 3 -1.75 fT —é 9#&_1 —12 - 1 — 11
EER12 A, 10 11.75 1.25 3 -1.75 — R _1 — _ —

&5t 105 D 105 0 0 0 fA AO)7KE$& 1 3 1 2
iy T 8.75 8.75 0 0 0 — — — —_ 0 —
EA 94.25 62 32.25 f e f T f A 11 2=19
Sr Sa S,
A3Hh B R D IK:2 .
RROKE HE K% 05D E
=F.INV.RT(0.05,2,9)=4.256 < 8.651
A DR

yij —T =04 —T)+
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i =T)" =4 -1+
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=1-F.DIST(Q12,012,013, TRUE) = 0.0080 <0.05
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EERT A, B, 9 0.25 -0.5 1.08 -0.33 f S \FD\
EER2 A, B, 7.5 -1.25 -0.5 -1.08 0.33
EER3 A, B, 7 -1.75 -2.5 1.08 -0.33 A 2 31 15.5 25 0.0412
e A, B, 55 -3.25 -2.5 -1.08 0.33 X
=885 A, B, 135 275 3 1 08 0.67 1 7.0417 | 7.0417 | 10.563 | 0.0831
A5 2 13 A e | 2 | 13333 ]06667

iy T 8.75 0 0 0 0

A 39.375 31 7.042 1.333 T 5 39.375
Ay 8.25 Sy Sa Sp S,
Ay 6.25 — "
= - . fr=2T—3%#-1=6—-1=5
A3 11.75|¢—— A3\ IK 2 s 3k
— MERROKE fa=ADKELH-1=3—-1=2
B, 9.83 s
- e fz =BDIKEH -1=2-1=1
fe=fr—fa—fp=5%5-2-1=2
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A 2 62 34~ 12 | 0.0080

B 1 14.083 | 14.083 | >5.452 T 0.0583
AXB 2 26667 | 1.333 | 0.516 0.6211

e 6 155 | 2.585

T 11 94.25

vii—T=WA0;-D+ (B -T)+{(4B,-T;)— (A4, -T)— (B, —T)} +

fr =2 TF—A2%—-1=12—1=11

fa=ADIKEH-1=3-1=2
fo =BDKEH-1=2-1=1

faxp =faXfp=2X1=2
fe=fr—fa—fe—faxp =11—-2-1-2=6

Bz R E FH | TERE yiy—T ADTR | BIOMR | XEMER | BE
A; B; Yij a;=A;—T | bj=B;—T |AxB(ab);; |®j=7Yij A;
EERT A, B, 8 -0.75 -0.5 1.08 -0.33 -1.00
EER2 A, B, 10 1.25 -0.5 1.08 -0.33 1.00
EER3 A, B, 6 -2.75 -0.5 -1.08 0.33 -1.50
EER4 A, B, 9 0.25 -0.5 -1.08 0.33 1.50
RE&5 A, B, 9 0.25 -2.5 1.08 -0.33 2.00
EER6 A, B, 5 -3.75 -2.5 1.08 -0.33 -2.00
FERT A, B, 5 -3.75 -25 -1.08 0.33 -0.50
EERS A, B, 6 -2.75 -25 -1.08 0.33 0.50
EER9 A, B, 13 4.25 3 1.08 0.67 -0.50
EER10 A, B, 14 5.25 3 1.08 0.67 0.50
EER 11 A, B, 10 1.25 3 -1.08 -0.67 0.00
EER12 A, B, 10 1.25 3 -1.08 -0.67 0.00
=11 105 0 0 0 0 0
Y T 8.75 0 0 0 0 0
EAHR 94.25 62 14.08 2.67 15.5
Sr Sa Sg Saxs Se
Ay 8.25| AiB; 9.00
4, 6.25| 4B, 7.50
As 11.75| 4B, 7.00
By 9.83| AB; 5.50
5, 767| 4B 1350 A;B e B D KHE
45, 10.00| B o jl
A, DR BB KXE{EFHAXBOME
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BHERE | A | 28 | o8ULL | PiE HEHE | E£A5%0 SR SEREE P{iE
f S V Fo f S /4 F,
A 2 62 31 12 0.0080 A 2 62 31 13.651 | 0.0026
B 1 14.083 | 14.083 5.452 0.0583 B 1 14.083 14.0\&}2 6.20'&8 0.0375
N e’ 6+2 155+ | 15.5 + 2.6667
. . 0.5#16 0.6217
AXB 2 | 26667,| 1383 = s —
e 6 J‘\&s\J [2585 \ / 122708
T 11 | 94.25 _ } r | u) )/ 942s o\ \
—
ZN\ A X BIZEE T8 s\ #
7 %ﬂttF i > BLLF
31 MEZEDD S
=== 12 = 13.651
2585 32708
14083 _ ¢ s 14083 _ .
2585 22708
s S IEBE S HARE (5 )
: = 0.516
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